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CLOTHES VOCABULARY REVIEW



What is he 
wearing?

He is wearing a 
browm sweatshirt,
blue jeans 
and white trainers.



What is she 
wearing?
She is wearing a 
white hat, 
a dark brown jacket, 
a white T-shirt, 
blue shorts 
and brown sandals.



What is he 
wearing?

He is wearing a 
green sweatshirt,
dark brown trousers
and white trainers.



What is she 
wearing?

She is wearing      
a red dress, 
sun glasses
and white sandals.



What is he 
wearing?

He is wearing         
a white shirt,
a red tie, 
a dark blue jacket,
gray trousers
and brown shoes.



What is she 
wearing?

She is wearing
an orange blouse, 
brown skin-tight 
trousers
and brown 
high-heeled shoes.



What is he 
wearing?

He is wearing
an orange jacket, 
a light brown scarf,
dark brown trousers
and brown boots.



What is she 
wearing?

She is wearing
a red cap, 
a red jacket,
a pink dress with a 
black belt,
black leggins
and black shoes.



What is he 
wearing?

He is wearing
a light blue T-shirt, 
light brown knickers,
a brown belt
and brown sandals.



What is she 
wearing?

She is wearing
a blue shirt, 
purple trousers
and black shoes.



What is he 
wearing?

He is wearing
a white T-shirt, 
a gray shirt,
light brown trousers
and brown shoes.



What is she 
wearing?

She is wearing
a blue and purple 
T-shirt, 
a blue belt, 
red trousers
and blue shoes.



What is he 
wearing?

He is wearing
a red cap, 
a light blue shirt,
a blue jumper,
blue jeans,
yellow socks
and brown shoes.



What is she 
wearing?

She is wearing
a pink T-shirt, 
a gray jacket, 
a purple skirt
and white boots.



What is he 
wearing?

He is wearing
a brown jumper, 
a black coat,
brown gloves, 
black trousers
and brown shoes.


